Multiply by Positive Powers of Ten (E)

Find each product.

29 x 10 = 67 X 10° =
20 x 101 = 54 X 10% =
44 x 10% = 87 x 10* =
20 X 103 = 74 x 10* =
89 x 103 = 27 X 10% =
3x10'= 75 x 103 =
76 X 10% = 87 x 10* =
45 x 10% = 12 x 10% =
95 x 103 = 26 X 10% =
34 x 10% = 41 x 10% =
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Multiply by Positive Powers of Ten (E) Answers

29 x 10' =290

20 x 10* =200

44 x 10% = 4,400

20 x 10° = 20,000

89 x 10° = 89,000

3x10'=30

76 X 10% = 7,600

45 x 10% = 4,500

95 x 10° = 95,000

34 x 10% = 3,400

Find each product.

67 X 10° = 67,000

54 x 10% = 5,400

87 x 10 =870

74 x 10' = 740

27 X 10%>=2,700

75 x 10° = 75,000

87 x 10 =870

12 x 10*=1,200

26 X 10> = 2,600

41 x 10% = 4,100
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